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. We want to digitize and record a 10-minute human speech, which has
frequency ranging from 100 Hz to 10 kHz. Assume that pulse coded
modulation method is used in the sampling process. If each sample is
stored using 16-bit memory, find the amount of RAM required to store
the speech. (20%)

A TCP connection is using a window size of 10,000 bytes, and the
previous acknowledgment number was 24.001. It receives a segment
with acknowledgment number 27,001. Draw a diagram to show the
situation of the window before and after. (20%)

_ What is the silly window syndrome? (10%)
What methods can prevent a silly window syndrome created at the
receiver? (10%)

Describe the advantages of IPv6 over IPv4. (20%)

. How many kinds of the error detection techniques you know? Please
describe them in detail. (20%)




